1. PH 2%
]B%“?;‘g{” AR . B REES TR CNC L —uh R 7 %

BUABRTFHARRMEERN R XK

4

b ea ok A5 BR 2 H]

o il R AL o il 4l MR 4L A B R 2 AL AL & 35 51| AT FE BB 4PF (G) oL ] W8 4
Bk | et ] AL k| b AL Wt e S (BEA7Z: mm) I
oI %) A | &b G4-G6 | G7-G8| G9 il #F | M
M1.0*0.25 0.75 | 0.785 | 0.729 | [M12*1.0 11.00 | 11.153 | 10.917 | [M1.0*0.25 0.86 | 0.88 — K 1z B FLAE W1/8 -40 | 2.65 | 2.60
M1.1*0.25 0.85 | 0.885 | 0.829 | [M12*0.5 11.50 | 11.520 | 11.400 | [M1.1*0.25 096 | 0.98 Bk /N W5/32-32 | 3.25 | 3.20
M1.2*0.25 095 | 0.985 | 0.929 | [M14*1.5 12.50 | 12.676 | 12.376 | [M1.2*0.25 1.06 | 1.08 G 1/16 7.72 6.84 6.56 W3/16 -24 | 3.75 | 3.70
M1.4*0.3 1.10 | 1.142 | 1.075 | |M14*1.0 13.00 | 13.153 | 12.917 | (M1.4*0.3 1.24 | 1.25 G(PF)1/8 9.73 8.85 8.57 W1/4 -20 | 5.10 | 5.00
M1.6*0.35 1.25 | 1.321 | 1.221 | |M15*1.5 13.50 | 13.676 | 13.376 | [M1.6*0.35 1.41 | 1.43 1/4 13.16 | 11.89 11.45 W5/16 -18 | 6.60 | 6.50
M1.7*0.35 1.35 | 1.421 | 1.321 | |[M15*1.0 14.00 | 14.153 | 13.917 | [M1.7*0.35 151 | 1.53 3/8 16.66 | 15.40 14.95 W3/8 -16 | 8.00 | 7.90
M1.8*0.35 1.45 | 1521 | 1.421 | |M16*1.5 1450 | 14.676 | 14.376 | [M1.8*0.35 1.61 | 1.63 1/2 20.96 | 19.17 18. 63 W7/16 -14 | 9.40 | 9.30
M2.0*0.4 1.60 | 1.679 | 1567 | |[M16*1.0 15.00 | 15.153 | 14.917 | [M2*0.4 1.78 | 1.80 5/8 2291 | 21.13 20.59 W1/2 -12 | 10.70 | 10.50
M2.2*0.45 1.75 | 1.838 | 1.713 | |M17*15 15.50 | 15.676 | 15.376 | [M2.2*0.45 1.95 | 1.98 3/4 26.44 | 24.66 24.12 W9/16 -12 | 12.30 | 12.00
M2.3*0.4 1.90 | 1.979 | 1.867 | |[M17*1.0 16.00 | 16.153 | 15.917 | [M2.3*0.4 2.08 | 2.10 7/8 30.20 | 28.42 27.88 W5/8 -11 | 13.70 | 13.50
M2.5*0.45 210 | 2.138 | 2.013 | |[M18*2.0 16.00 | 16.210 | 15.835 | [M2.5*%0.45 225 | 2.28 1 33.25 | 30.93 30.29 W3/4 -10 | 16.70 | 16.50
M2.6*0.45 220 | 2.238 | 2.113 | [M18*15 16.50 | 16.676 | 16.376 | [M2.6*0.45 235 | 2.38 1.125 37.90 | 35.58 34. 94 W7/8 -9 19.50 | 19.30
M3.0*0.5 250 | 2599 | 2.459 | |[M18*1.0 17.00 | 17.153 | 16.917 | [M3.0*0.5 273 | 2.75 1.25 4191 | 39.59 38.95 W1 -8 | 2240 22.00
M3.0*0.6 2.40 | 2.440 | 2.280 | |[M20*2.0 18.00 | 18.210 | 17.835 | [M3.5*0.6 3.17 | 3.20 1.375 4432 | 42.01 41.37 W1-1/8-7 | 25.00 | 24.80
M3.5*0.6 2.90 | 3.010 | 2.850 | [M20*1.5 18.50 | 18.676 | 18.376 | |M4.0*0.7 362 | 365 | 3.69 1.5 47.80 | 49.02 45.49 W1-1/4-7 | 28.30 | 28.00
M4.0*0.7 3.30 | 3.422 | 3.242 | [M20*1.0 19.00 | 19.153 | 18.917 | |M5.0*0.8 456 | 460 | 4.64 1.625 51.91 | 50.79 49.67
M4.0*0.75 3.25 | 3.326 | 3.106 | [M22*2.0 20.00 | 20.210 | 19.835 | |M6.0*1.0 5.45 | 550 | 5.5 1.75 53.75 | 56.66 51.43
M4.5*0.75 3.80 | 3.878 | 3.688 | [M22*1.5 20.50 | 20.676 | 20.376 | [M7.0*1.0 6.45 | 650 | 6.55 2 59.61 57.30 _,E_l_ i }EH i? @C
M5.0*0.8 4.20 | 4.334 | 4.134 | [M22*1.0 21.00 | 21.153 | 20.917 | |M8.0*1.25 731 | 738 | 7.44 NG
M5.0*0.9 4.10 | 4.170 | 3.930 | [M24*2.0 22.00 | 22.210 | 21.835 | [M10*1.5 918 | 9.25 | 9.32 S B
M6.0*1.0 5.00 | 5.153 | 4.917 | [M24*15 22.50 | 22.676 | 22.376 | |[M10*1.25 931 | 938 | 9.44 3@ %'J %; i? Qj{ SM1/8 -40(2.735-2.688
M7.0*1.0 6.00 | 6.153 | 5.917 | [M24*1.0 23.00 | 23.153 | 22.917 | |M12*1.75 11.04 | 11.12 | 11.21 N = SM1/8 -442.769-2.722
M8.0*1.25 6.80 | 6.912 | 6.647 | [M25*2.0 23.00 | 23.210 | 22.835 | |M12*1.25 11.31 | 11.38 | 11.44 —_— b B4 SM9/64 -40(3.128-3.083
M9.0*1.25 7.80 | 7.912 | 7.647 | |M25*15 2350 | 23.676 | 23.376 | 3, BefRouy 5T, 7E A K 5/ SM11/64-40 |3.855-3.805
M10*1.5 8.50 | 8.676 | 8.376 | [M25*1.0 24.00 | 24.153 | 23917 | {8, B T#INT MEZHE. M@E. ek |[PS 1/16 -28 | 6.50 | 6.632 6. 490 SM3/16 -32|4.205-4.155
M11*1.5 9.50 | 9.676 | 9.376 | [M26*1.5 2450 | 24.676 | 24376 | « Roy&Ezsgm, /D[4, Bkt |[PS 1/8 -28 | 8.50 | 8.637 8. 495 SM3/16 -284.143-4.093
M12*1.75 10.30 | 10.441 [ 10. 106 | [M27%2.0 25.00 | 25.210 | 24.835 | Z75 LRLZFIN, TREHHEE T PS 1/4 -19 | 11.40 | 11.549 11. 341 SM7/32 -32[5.003-4.955
M14*2.0 12.00 [12.210( 11.835 | [M27*1.5 25.50 | 25.676 | 25.376 PS 3/8 -19 | 15.00 | 15.054 14. 846 SM15/64-28 [5.325-5.570
M16*2.0 14.00 |14.210( 13.835 | [M27*1.0 26.00 | 26.153 | 25.917 PS 1/2 -14 | 18.50 | 18.773 18. 489 SM1/4 -40|5.890-5.735
M18*2.5 15.50 | 15.744 | 15.294 | (M28*2.0 26.00 | 26.210 | 25.835 % %l *ﬁ i? ﬁj’{ PS 3/4 -14 | 24.00 | 24.259 23.975 SM1/4 -28(5.721-5.366
M20*2.5 17.50 | 17.744| 17.294 | [M28*1.5 26.50 | 26.676 | 26.376 - N PS1 -11 | 30.20 | 30.471 30. 111 SM9/32 -286.508-6.648
M22*2.5 19.50 | 19.744 19.294 | |M28*1.0 27.00 | 27.153 | 26.917 KA p | 2HFRISLAE | [PS 1-1/4 -11 | 38.80 | 39.132 38. 772 SM11/32-28(8.092-8.432
M24*3.0 21.00 |21.252] 20.752 | [M30*3.0 27.00 | 27.252 | 26.752 (UNC) bt BAk | &/ | |PS 1-1/2 -11 | 44.80 | 45.025 44. 665 SM3/8 -28(8.880-8.015
M27*3.0 24.00 | 24.252| 23.752 | [M30*2.0 28.00 | 28.210 | 27.835 (B2 FHM7) PS2 -11 | 56.50 | 56.836 56. 476 SM7/16 -28(10.466-10.401
M30*3.5 26.50 | 26.771|26.211 | [M30*1.5 28.50 | 28.676 | 28.376 | [No.1-64(1.854) | 1.55 | 1.582 | 1.425 SM7/16 -16(10.037-9.967
M30%*1.0 29.00 | 29.153 | 28.917 | [No.2-56(2.184) | 1.80 | 1.871 | 1.695 SM1/2 -20(11.819-11.749
M32*2.0 30.00 | 30.210 | 29.835 | |No.3-48(2.515) | 2.10 | 2.146 | 1.941 SM9/16 -20(13.400-13.425
M32*1.5 30.50 | 30.676 | 30.376 | |No.4-40(2.845) | 2.30 | 2.385| 2.157 b £
/A\ H’ﬁu 2H] ﬂj% éj{ M33*3.0 30.00 | 30.252 | 29.752 | |No.5-40(3.175) | 2.60 | 2.697 | 2.487 S %'J '_é‘; Q’?‘ Zj{
—_— b 2 FH LR | [M33*2.0 31.00 | 31.210 | 30.835 | |No.6-32(3.505) [ 2.80 | 2.895 | 2.642 PrifEAR e s /!_\\ $' m? @C
gk | &/ | [M33*15 31.50 | 31.676 | 31.376 | [No.8-32(4.166) | 3.40 | 3.530 | 3.302 bV Lt | e || W N TR =
M1.0%0.2 0.80 | 0.821 | 0.783 | |[M35*1.5 33.50 | 33.676 | 33.376 | |No. 10-24(4.826) 3.90 | 3.962 | 3.683 F& WRIEAE
M1.1*0.2 090 | 0.921 | 0.883 | |[M36*3.0 33.00 | 33.252 | 32.752 | |No.12-24 (5.486)| 4.50 | 4.597 | 4.344 | |PT 1/16 -28 | 6.10 6.20 | 6.244 | 6.384 | [M3*0.5 2.63-2.60
M1.2*0.2 1.00 | 1.021 | 0.983 | |M36*2.0 34.00 | 34.210 | 33835 | |1/4 - 20 5.10 | 5.257 | 4.979 | [PT 1/8 -28 | 8.10 8.20 | 8.429 | 8.388 | |M3.0*0.6 2.56-2.53
M1.4*0.2 1.20 | 1.221 | 1.183 | |M36*1.5 3450 | 34.676 | 34.376 | |5/16 - 18 6.60 | 6.731 | 6.401 | [PT 1/4 -19| 10.70 | 11.00 | 10.962 | 11.174| [M3.5*0.6 3.06-3.03
M1.6*0.2 1.40 | 1.421 | 1.383 3/8 - 16 8.00 | 8.153 | 7.798 | [PT 3/8 -19 | 14.20 | 14.50 | 14.448 | 14.654CD|M4.0*0.7 3.49-3.45
M1.7*0.2 1.45 | 1.500 | 1.460 7/16 - 14 9.40 | 9.550 | 9.144 | [PT 1/2 -14 | 17.60 | 18.00 | 17.979 | 18.2690OM4.0*0.75 3.45-3.41
M1.8*0.2 1.60 | 1.621 | 1.583 % %'J QH] @,? fj’{ /2 - 13 10.80 | 11.023| 10.592 | |PT 3/4 -14 | 23.00 | 23.50 | 23.378|23.663 | |M4.5%0.75 3.96-3.92
M2.0*0.25 1.75 | 1785 | 1.729 A Vo= 9/16 - 12 12.20 |12.446| 11.989 | [PT 1 -11 | 29.00 | 29.50 | 29.459 | 29.822 | |M5.0%0.8 4.43-4.38
M2.2*0.25 195 | 198 | 1.929 AU e | 28T | |5/8 - 11 13.60 |12.868| 13.386 | |PT 1-1/4 -11 | 37.50 | 38.00 | 37.976 | 38.339 | [M5.0%0.9 4.36-4.31
M2.3*0.25 205 | 2.061 | 2.001 (UNF) PRk A | & [ [3/4 - 10 16.50 | 18.840| 16.307 | |PT 1-1/2 —11 | 43.40 | 44.00 | 43.869 | 44.232 | |M6.0*1.0 5.30-5.25
M2.5*0.35 220 | 2221 | 2121 (B2 FHM7) 7/8 - 9 19.50 | 19.761| 19. 177 | [PT 2 -11 | 54.90 | 55.50 | 55.412 | 55.844 | [IM7.0¥1.0 6.30-6.25
M2.6*0.35 220 | 2.246 | 2.186 | |No.0-80(1.524) | 1.25 | 1.305 | 1.182 | |1 - 8 22.20 [22.606]| 21.971 M8.0*1.0 7.28-7.23
M3.0*0.35 270 | 2.721 | 2.621 | |No.1-72(1.854) | 1.55 | 1.612 | 1.474 | [1-1/8 — 7 25.00 |25.349] 24. 638 M8.0*1.25 7.12-7.07
M3.5*0.35 3.20 | 3.221 | 3.121 | |No.2-64(2.184) | 1.85 | 1.912 | 1.756 | [1-1/4 — 7 28.20 |[28.524| 27.813 % ?ﬁlj %‘; i? ﬁj[
M4.0*0.5 3.50 | 3.599 | 3.459 | |No.3-56(2.515) | 2.10 | 2.197 | 2.025 | [1-3/8 — 6 30.80 |[31.115] 30.353 A
M4.5*0.5 4.00 | 4.099 | 3.959 | |No.4-48(2.845) | 2.40 | 2.458 | 2.271 | [1-1/2 - 6 34.00 |34.290]| 33. 528 HioofL & ﬁ%ﬂ%%ﬁm?&
M5.0%0.5 4.50 | 4.599 | 4.459 | |No.5-44(3.175) | 2.70 | 2.740 | 2.551 | [1-3/4 - 5 39.50 |39.827]| 38.964 & NPT NPS N
M5.5*0.5 5.00 | 5.099 | 4.959 | |No.6-40(3.505) | 2.90 | 3.022 | 2.820 | |2 - 4-1/2 | 45.20 |45.593| 44.679 1 FH 2 T\ AN FI 25 T0 e A& A
M6.0*0.75 5.30 | 5.378 | 5.188 | |No.8-36(4.166) | 3.50 | 3.606 | 3.404 1/16  -27 6. 10 6. 25 6. 35 2BA 4.0-4.2
M6.0*0.5 5.50 | 5.550 | 5.400 | |No.10-32(4.826)| 4.10 | 4.165 | 3.963 1/8 -27 8.33 8. 43 8. 74 3BA
M7.0*0.75 6.30 | 6.378 | 6.188 | [No.12-28(5.846)| 4.60 | 4.724 | 4.496 % f‘EIJ 4% QH] m? ij[ 1/4 -18 10.72 | 11.13 11.13 4BA 3.0-3.2
M7.0*0.5 6.50 | 6.550 | 6.400 | [1/4 - 28 5.50 | 5.588 | 5.360 = SN 3/8 -18 14.27 | 14.27 14. 68 5BA 2.7-2.8
M8.0*1.0 7.00 | 7.153 | 6.917 | |5/16 — 24 6.90 | 7.035 | 6.782 R e | 2P AR | (U2 -14 17.48 | 17.86 18. 26 6BA 2.4-2.5
M8.0*0.75 7.30 | 7.378 | 7.188 | |3/8 - 24 8.50 | 8.636 | 8.382 (UNEF) P ifEf BA | A | ]34 -14 22.63 | 23.01 23. 42
M8.0*0.5 7.50 | 7.520 | 7.400 | [7/16 - 20 9.90 | 10.033| 9.729 | [No.12 - 32 4.70 | 4.826 | 4.623 | |1 -11-1/2| 28.58 | 28.98 29. 36
M9.0*1.0 8.00 | 8.153 | 7.917 | [1/2 - 20 11.50 | 11.607 | 11.329 | [1/4 - 32 5.60 | 5.690 | 5.486 | [1-1/4 -11-1/2| 37.31 | 37.69 38.10
M9.0*0.75 8.30 | 8.378 | 8.188 | [9/16 - 18 12.90 | 13.081 | 12.751 | |5/16 - 32 7.10 | 7.264 | 7.087 | |1-1/2 -11-1/2| 43.66 | 44.04 44. 45
M10*1.25 8.80 | 8.912 | 8.467 | [5/8 - 18 14.50 | 14.681 | 14.351 | [3/8 - 32 8.70 | 8.865 | 8.661 | |2 -11-1/2| 55.58 | 55.96 56. 36
M10*1.0 9.00 | 9.153 | 8.917 | [3/4 - 16 17.50 | 17.678 | 17.323 | |7/16 - 28 10. 20 |10.338| 10. 135
M10*0.75 9.30 | 9.378 | 9.188 | [7/8 - 14 20.50 | 20.675 | 20.270 | [1/2 - 28 11.80 |11.938| 11.709
M10*0.5 9.50 | 9.520 | 9.400 | |1 - 12 23.20 | 23.571 | 23.114 | [9/16 - 24 13.20 |13.386| 13.132
M11*1.0 10.00 | 10.153| 9.917 | |1-1/8 - 12 26.50 | 26.746 | 26.289 | |5/8 - 24 14.80 |14.986| 14. 732
M11*0.75 10.30 | 10.378| 10.188 | |1-1/4 - 12 29.50 | 29.921|29.464 | [3/4 - 20 17.80 |17.958| 17.678
M12*1.5 10.50 | 10.676| 10.376 | |1-3/8 - 12 32.80 | 33.096 | 32.639 | [7/8 - 20 21.00 [21.133] 20.853
M12*1.25 10.80 | 10.912| 10.647 | |1-1/2 - 12 36.0 | 36.271 | 35.814 | |1 - 20 24.00 |24.308]| 24.028

BiEBEREH http://mww.jyxinbang.com (H

]

H

uh) https://www.china-aluminum.com (English)



Administrator
高亮

Administrator
附注
四轴密封用牙孔（接）12.0管

Administrator
附注
接1/4主管

Administrator
图章




